\ Length of HC
AH)° = m HB x m HC (In a right triangle, the height is the geometric mean ofthe lengths

of the projections of its legs onto the hypotenussg:
= Length of BC \&

m BC = mHB + m HC
mBC=54+96 \\
mBC = 15¢cm '\.h
= Length of AC
(m AC) = (m HA + (m AC)
(m AC)" = (7.2 + (9.6)2

(m ACF = 144
mAC =12 cm

= Perimeter oftriangle ABC ]
r AABC =m AB + m BC + m AC
=9+15+ 12
- =36 cm "
> CONCLUSION \\ 1

The perimeter of triangle ABC is equal to 36 cm.

13. AN ISOSCELES RIGHT TRIANGLE
= Coordinates of point G y,r &
C(1, 2); D(9, 8)
xG=l(1 +9)=5and y, = 1(2+a)
We have G(5, 5)
= Coordinates of point F
A(9, 10); B(13, 2) E
xF=9+§(13—9)z9+3(4)_12
yF:10+3(2—10)—10+3(—B) il
We have: F(12 4) )
= Classification of triangle EFG
E(8, 1); F(12, 4); G(5, 5)
*mEF=J12_8P + (4 1P =161 0=425-5
MEG=y5-8F +(B -1 =487+ 16 =25 =5
Sincem EF = m EG, triangle EFG is |sosceles with main vertex E.

. = _ 5-1_
SIopeEF_12 g = o Slope EG = —8 3

Since slope of EF x slope of EG = -1, we have: EF L EG
Triangle EFG is a right tnangle atE.
> CONCLUSION
Triangle EFG is an isosceles right triangle at E.
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